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1 2 3 4 5 6
1-ht Yjhuwdjwly, 16 rwpwp
1 bhghywlwu Ynywnipw - 1* 2 32 0
2 Lwjng [kqnt 2 2 32 28
3 <wjng wwwndnipjntu 2 2 32 28
4 Ownuwnp tgnt (wugtiptu, $pwuutiptiu, gipdwutiptiu) 8 8 128 112
5 Pwnpépwagnyt dwebdwwnhlyw 6 6 96 84
6 bhghyw 6 6 96 84
7 Cunhwuntp phdphw 6 6 96 84
Lunwdbup 1-hu Yhuwdjwlynid 30 32 512 420
2-pn Yhuwdjwly, 16 pupwpe
1 dbhghywlywu Ynywnipw - 2* 2 32
2 Owuwp |Ggnt (Mnwwg |Ggnt) 4 4 64 56
3 Cwuwpwlwaghwnniejwl dnnnyutip (<wjng ywwdniejntl, 6 6 9% 84
Uowlnipwpwuntpiniu, Lwunwpwghwnnieiniu, Phihunthwjniejniu)
4 Cwyng tiqnt U funuph dawynye 2 2 32 28
5 Yhpwnwlwu hudnpdwnhlw 6 6 96 84
6 Uuunwghwniejniu 6 6 96 84
7 Opqwuwlwu b Shqynynhn phihw 6 6 96 84
Lunwdbup 2-pn jhuwdjwlynid 30 32 512 420




1 2 3 4 5 6
3-pn hhuwdjuly, 16 2upwp
1 Utwulwpnidnip)ntu 6 6 96 84
2 Pnwwpnidnieinlu 6 6 96 84
3 Ytuuwphdhw 6 6 96 84
4 Muwpbuwjhu optuunpnipiniu-1 6 6 96 84
5 Jdhbwwgpnipntu 6 6 96 84
Lunwdbup 3-pn Yhuwdjulymd 30 30 480 420
4-pn hpuwdjwly, 16 ywpwpa
1 Uptipph wwhwwudwu wnGfuuninghw (pntu., Y&un.) 6 6 96 84
2 Upwnwnpnigjwt uwuhinwphw U hhghbuw 6 6 96 84
3 2tipdwjhu wypngbuubip 6 6 96 84
4 Uwupbwybuuwpwunipintu 6 6 96 84
5 Muwpbuwjhu optiuunpnypntu-2 6 6 96 84
Lunwdbup 4-pn Yhuwdjuwlymd 30 30 480 420
5-pn Yhuwdjwly, 16 2wpwpe
1 Ybtiun.dwgdwl JUp. wmkuuninghw 5 5 80 70
2 Pniu.dwgdwu de. nbluuninghw 5 5 80 70
3 Uuunh Eynundhyw 5 5 80 70
4 Utunwdptipph wuyunwugnyp)ntu 5 5 80 70
5 Cwldwwwunwufuwunpjwu guwhwwnnid 5 5 80 70
6 YwdpUuwnpwihu wnwplw 5 5 80 70
Uwdpuwnmpwiht wnwplwubp
6 Pwprbpwynpdwu Ujniptp 5 5 80 20
Uuunwhu hwybnidubip
Lunwdbup 5-pn Yhuwdjulymd 30 30 480 420
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6-pn Yhuwdywly, 16 pwpwpe
1 $Pnpdwpuunip)nil (pniu., Ytun.) 5 S 80 70
2 Utunwdptipph wuyunwugnypjwt junwjwpdwu hwdwlwngbn 5 5 80 70
3 Uuunh jwpnpwuinnphwubip 5 5 80 70
4 Mthultiph bpiniénieyniu 5 S) 80 70
5 (Gniuwpwunie)ntu 5 5 80 70
6 Ywdpuwnpwiht wnwnplyw 5 5 80 70
Uwdpuwnpwiht wnwplywubp
Atinutipt u
6 Lt 5 5 80 70
Lnghuwnhlw
Lunwdbup 6-pn Yhuwdjuwlynid 30 30 480 420
7-pn hhuwdjwly, 16 pwpwpe
1 Upfluwwmwupwihtu Yhuwdjwy (wpunwnpulywu ypwynmhlw) 30
Lunwdbup 7-pn jhuwdjwlynid 30
8-pn Yhuwdjwly, 12 pupwpe
1 Uwnpbiehug W phqubiu 5 7 84 66
2 Uwhdwuwjhu ypwhulynnnipniu 9] 7/ 84 66
3 Yktuwgnpéntubnipjul wtdunuwtgnipnt b punuuonywnipint 3 4 48 42
4 Cpowlyw dhowywjph wwhwwuntejniu 3 4 48 42
5 Ywdpuwnpwiht wnwnplyw 4 5 60 60
Uwdpuwnmpwiht wnwplwubp
Uu u u
5 PWnU wpwwnpnye)nt 4 5 60 60
Ogunwhwunud (pwthnuutiph)
Lunwdbup 8-pn Yhuwdjwlynd 20 27 324 276
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